
Worksheet 3.1 
 

1. Which of the following vehicles has the greatest net force acting on it? 
 

 a. a 500 kg car traveling at a constant velocity of 25 m/s 

 b. a 1500 kg truck traveling at a constant velocity of 20 m/s 

 c. a 750 kg truck traveling at a constant velocity of 30 m/s 

 d. a 100 kg human traveling at a constant velocity of 250 m/s 

 e. none of the above: all have zero net force acting on them 
 

 

2. You have three cars, each with different mass. You want to accelerate each of them to a 

speed of 25 m/s in 5 seconds. Which would require the greatest net force to accomplish 

this? 
 

 a. Car A, with a mass of 500 kg 

 b. Car B, with a mass of 750 kg 

 c. Car C, with a mass of 1000 kg 

 d. all of the above would require the same net force 

 e. impossible to determine from information provided 

 

3. Consider the following free body diagram. None of the force types are specified, just their 

values and directions.   

 

 

 

 

 

 

 

 

 

 

 

For which of the following situations would this free body diagram apply? Select all that apply. 

 

 a. a 10 kg object moving rightward at constant speed 12 m/s 

 b. a 10 kg object moving leftward but slowing down by 12 m/s each second 

 c. a 10 kg object moving rightward and speeding up by 12 m/s each second 

  d. a 10 kg object moving leftward and speeding up by 12 m/s each second 

 e. none of the above applies 
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4. For each picture below, determine the direction and magnitude of the overall force vector 

for objects below and answer any additional questions using Newton’s Second Law.  

a.  

b.  

c.  



d.  
If the bus has a mass of 300 kg (it’s a small bus), what will the acceleration on the bus 

be? 

 

 

 

e.  
If the 8-ball accelerates at a rate of 28 m/s

2
, what is the mass of the ball? 

 

 

 



f.  
If the ball has a mass of 1.4 kg, what is the acceleration of the ball? 


